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TRIGONOMETRIC FUNCTIONS

Drawing the triangle on the plane:

y
P(Ly)
r=Hyp=2 E
{ y=Opp
(7 |
H X
x=1=Adj

2) Using the Pythagorean Theorem:

@ 4 (1Y% = (2)?

EXAMPLE: Given the trigonometric function sec( 0 )=2,
find the trigonometric functions and the angle.
SOLUTION: 1) We know that:
s By 2 o HYD
sec(e)—z—l— 2dj
=> Hyp=2 and Adj=1.
Drawing the right
triangle:
Hyp=2 -
A Opp=?
o a’+1=4
) [ a?+1-1=4-1
Adj=1 a* =
a=vV3=0pp
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3) Obtaining the trigonometric
unctions with their ratios if
Hyp=2, Adj=1and Opp =3 .

o 3
sin(0) = HL;'Z.SM(G) =

)

2
© = 2Y o cos(6) = > ——
cos = coSs = =
Hyp 2 Hence, the right triangle can be
5 73 represented on the plane as:
tan(0) = Z%;T).tan(a) - y
P(1,v3)
Adj 1 —Hyp=2/ 1
cot(0) = —I.cot(ﬂ) =— r=Hyp=2 H
Opp V3 !
i y=Opp=+3
L 6) = 2 o060 |
sec(0) = Tq—d—]_-.sec( = i = i )
H 2 x=1=Adj
csc(0) = O—;,II:-CSC(B) = "

4) Calculating the angle:
cos(0) = )

6 = arccos (1)
= C 2




